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ECONOMICS

( General )

Paper: 5.2

( Introduction to Growth and
Development Economics I

Full Marks : BO

Time:3 hours

The ftgures in the margin indicate full marks
for the questions

Answer either inEnglish. or in Assamese

1. Answer the following as directed : 1x10=10

fi&4r q-flfr uqs fi$r<rE{ b-q< fr.fi :

(a) Mention one merit of large-scale
industry.
'Tqq-{l€-l{ G-cqn$q .sh eq bm'{ s-$ r

(b) Alrnost all underdeveloped countries
have a dualistic economy.

(Write True or False)

SK :T.$ZSr.{K \T$s C?"li-''gQ .ss &15 qqftfr
cllz-s I (q-rtl c{ qq-st ft31)
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(c)

(d)

(e)

a

(g)

t2l

Name the organisation which prepares
Human Development Index (HDI).

qrq< GET{ {F-f et-€s q{txqkbm qtq fr'lT r

'A country is poor because it is poor."
Who said this?

"qfr6 6q<t <n{Q cq-"r s?lq {Re 1" 41E ffi r

The first economist to propo.rrra ,t "theory of Balanced Growth is

Rosenstein Rodan/Nurkse.

(Choose the correct answer)

qwq.f qTR-q sq qrflT(u,r$ sqq qqfrBRqq-{

?<q<'eqq&{ <'vR/qtrd r

(lsq ffiI <tR.bRsct;

Mention one noneconomic factor of
economic growth.

qqftil&-r q{GK eh qqwlc1s orq+ beas qEt 
r

What is sustainable development?

Tq{.sq Sarq ft I
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{3)

Mention the basis on
are classified as large

Tl-q-{-ITSK IqryICT fr T
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which industries
or small.

(h)

(t)

2. 2x5= 10

(a)

(b)

(c)

qwttf q{fr vqeh {K"r6s tR qv €rqitsr<

EzntenTqs lqq qqm Te $ cuQge +<
frffiI Brs'q s-<l r

What is capitalist surplus?
Aq

Tq<Tn s!tr Is ?

(i) Mention a sollrce of economic growth.

\Tqffi\tr rThK qb bqq Srs''<ts-$ r

Answer the following :

uqo furcqpsq B-q< firn :

Give the meaning of the choice of
technique.

ffi.rq twE qdfr"Er 
r

Write two differences between large-
scale industry and small-scale industry.

Tqe,-qqK seqilq qrE Tq-{rqK $6nFK qrq{

$r "n<fo R'<r r

What is the problem of balance between
agriculture and industry in the context
of the theory of Balanced Growth?



l4)

(d) Name the two sectors of the Lewis model
of uniimited supply of labour.

frRqK ult-qq qftr cqrrR qrRebm -<rs qir< ;m

th'<n r

(e) Explain the rneaning
Enroilment Ratio.

S mwg q-{'lle;{ qdql-11qqi 
1

Answer any four of the following questions :

5x4=20
Eq{ ssr<K"{ fr c+trq DfRbK Vsq fr'<T 

'

(a) Explain the meaning of Forward
Linkage and Backward Linkage with
examples.

bqR<rfc< h-cis qgffi qirqtrt \flT "rotl53
qi({IeK qd m3-n +q r

Explain the main problems of
measuring economic development in
underdeveloped countries.

q1ns v{RGE qqfFBs €Hq-fi cqr{r c{Kt{
s{l{ qqlll<]& <ffiti s-$ I

Distinguish between balanced growth
strategr' and unbalanced growth
strategr.

of Gross

tst
(d) Assess the role of agriculture in

economic development.

qqftn&re G-djr4s TR{ Vfrsrfrqqq s-qt r

(e) Distinguish between economic growth
and economic developrnent.

\rcfr{ftr r{fr \flT qqft{G-s 0lir+< qlqio

Ye{T $-$ I

ffi Explain the backwash effects of
Migration and Capital Movement.

srsq'{ qrc {Efi qsKct{ "PoR esTq-.1 "rRflq
<JFIJI STI I

4" Answer any four of the following questions:
10x4=40

trq{ $sa{rfi fii c+r{T ufiBr{ B-s< frrn .

(a) Explain the various causes of economic
underdevelopment. 10

qq?q&T \ry-ffrq-$oFr Rtrn nr<qqTE {JT{n TTr I

(b) Explain the Lewis model of unlirnited
supply of labour. What are the
limitations of this model? 7+3

ftRq.{ sRs{ ffiq ffiarrq \flRrh <il"fir T-{T I

qq \flfrCbn ffqnqlrTc<K fr r

3.

(b)

(c)

qwl"l.f qTh c-fi{q qw qqrrotl.f q{R
cFHqK {liwre -yq414-<1 

,
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(o|
(c) Explain the

poverty o*JilT:,"T 
""jii:n""'i:t",#vicious circle of poverty.---E!rvrr 

7+3qRaqT 
"n-sD@{ sR.FTq <jl?ilT $_fl r q_o?fu*erE TlsD-4T 4{IflT qITRCFKI 

I

(d) What is Hur
(HDr) ? uil"f il" ff#"iTjl'njf..i
aspects which are studied by HDI. 

GAssume that India,s life expectancy atbirth in lgg7 ,,,o.--'".^"lPsuLa
maximum 

",0 1,,X,il,f i:,,JJT::,,JexPectancy are Bo.o 
"rra 2o.orespectively, 

crindex. omPute life exPectancy

a

171

Exptrain the labour-intensive technique

of procluction. Give arguments in favour

and against the labour-intensive

technique of Prod.uction. 4+3+3

xr-frR-s Gq'm{ cffil <lBllT T<l I u\ frR-s

Gq"fik-{ ffirsr {"lcrn qr+ fr16 {G
qlq-{cgT<l I

Why are small-scale industries (SSIs)

more suitable in developing countries?

What are the main difficulties faced by

these industries? 5+5

Tq-{-qK OzmffiTl ffiE cq"lE ftr c<R

G"rp 2 qQl{q Bzqmq {n$ll Rr<l a{ll
v1R<r<m fr t

How can economic develoPment be

measured through (r/ national income

and. (ii)per-capita real income? Mention

their limitations also. 3+3+4

\TcftnFr B"dR-{ (i qr6l qrx qrs (tt q{$
erfo q166E Rrz< qR{ ffir ft{oq ftqKqsls
G-.tr{ TR{t I

{l{r efi{ TFK$ fr ?q<tn{ s3I gr{fr-f {F.<
F{I I

2+5+3
qm< b-{T-{ 

TD-qK$Q
e.qT{ft frffi' <nrn

(g)

@

vR cEr<r 
.tgg\ D_{_s ErEq{ q_g.E q\Ts q_fisurlT qRE 62.6 rqs r {ftcq q*,#

cDEq qrc fiRET TF;_r,@n 8o.o qrs 2o.oR{, Csrs q_<_{ aEnTI T*$Tis ,ft+t +xt I

{e) Discusr
or."orr::le 

unbalanced growth strategrrmrc development.
Fog-G-{{clc{.l\9-$--ERT-{T sqTstlf ITfr cfi"mrbT.q.raq.D_{t 

s_<.r I
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